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Mark schemes are prepared by the Lead Assessment Writer and considered, together with the relevant
guestions, by a panel of subject teachers. This mark scheme includes any amendments made at the
standardisation events which all associates participate in and is the scheme which was used by them in
this examination. The standardisation process ensures that the mark scheme covers the students’
responses to questions and that every associate understands and applies it in the same correct way.
As preparation for standardisation each associate analyses a number of students’ tests. Alternative
answers not already covered by the mark scheme are discussed and legislated for. If, after the
standardisation process, associates encounter unusual answers which have not been raised they are
required to refer these to the Lead Examiner.

It must be stressed that a mark scheme is a working document, in many cases further developed and
expanded on the basis of students’ reactions to a particular paper. Assumptions about future mark
schemes on the basis of one year’'s document should be avoided; whilst the guiding principles of
assessment remain constant, details will change, depending on the content of a particular examination

paper.
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Speaking Tests — Higher tier

Part One mark scheme
Principles of marking

The Speaking Tests are marked in accordance with the assessment criteria provided later in this
document. No allowance can be made for poor teacher conduct of the tests. You can only assess
what you hear.

If a candidate requires a prompt or explanation of any kind, including the provision of an item of
obviously unknown vocabulary, this must be given clearly and audibly by the teacher-examiner
without stopping the recording.

Level of response marking instructions

Level of response mark schemes are used in the Photo card and General conversation tasks. The
criteria are broken down into levels, each of which has a descriptor. The descriptor for the level
shows the average performance for that level.

Step 1 Determine a level

Start at the lowest level of the mark scheme and use it as a ladder to see whether the student
performance meets the descriptor for that level. The descriptor for the level indicates the different
qualities that might be seen in the student’s performance for that level. If it meets the lowest level
then go to the next one and decide if it meets this level, and so on, until you have a match between
the level descriptor and the performance. With practice and familiarity, you will find that for better
performances you will be able to quickly skip through the lower levels of the mark scheme.

When assigning a level, you should look at the overall quality of the performance and not look to
pick holes where the student has not performed quite as well as the rest. If the performance
covers different aspects of different levels of the mark scheme, you should use a ‘best fit’ approach
for defining the level and then use the variability of the performance to help decide the mark within
the level, ie if the response is predominantly level 3 with a small amount of level 4 material it would
be placed in level 3 but be awarded a mark near the top of the level because of the level 4 content.

Step 2 Determine a mark

Once you have assigned a level, you need to decide on the mark. The exemplar materials used
during standardisation will help. You can compare the student’s performance with the examples
marked by the Lead Examiner to determine if it is the same standard, better or worse than the
examples. You can then use this information to allocate a mark for the performance.

You may well need to go back through the test as you apply the mark scheme to assure yourself
that the level and the mark are appropriate.
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The test as a whole

Each candidate’s speaking test consists of three parts, completed in this order:

Part 1

Part 2

Part 3

Total marks at Higher tier = 60

Role-play — 2 minutes approximately (15 marks)

Discussion of photo card — 3 minutes at Higher tier (15 marks)

General conversation — 5—7 minutes at Higher tier (30 marks)

Nine role-plays and photo cards will be set at each tier in each series for French, German and
Spanish and six for small entry languages.

Marks will be allocated in the following way at Higher tier:

Communication | Knowledge | Range and | Pronunciation | Spontaneity | Total

and use of | accuracy of and and fluency
language language intonation

Role-play 10 5 15

Photo card 15 15

General

Conversation 10 10 > S 30

Total 35 5 10 5 5 60

Marks for each candidate must be entered clearly in black pen on the Speaking Score Sheet (see

Appendix 2 on p16) and entered into QMS. All additions must be checked carefully to ensure they
are correct both on the Speaking Score Sheet and in QMS. Addition errors can result in

candidates receiving a wrong grade.
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Section 1: Role-play

This part of the test consists of a role-play which has been prepared by the candidate in the
preparation time. Each candidate completes one role-play at the tier for which they have been
entered. The role-play is not timed.

There are five tasks for the role-play, each of which is awarded up to two marks for
Communication. There is then an overall assessment of the candidate’s Knowledge and use of
language (KUL) in the role-play and up to five marks are available. The total number of marks for
the role-play is 15 (10 + 5).

A target language script is provided for the teacher-examiner which must be adhered to. The only
occasion when teacher-examiners are permitted to change the target language script is if a
candidate’s response makes the printed prompt inappropriate. An example of this would be if the
candidate was asked what they did at the weekend and their response was that they were ill. So if
the target language prompt in the script was ‘super’, this could justifiably be changed to ‘oh dear’.
If teacher-examiners give key vocabulary, candidates cannot be rewarded for it.

You must mark the role-plays in accordance with the assessment criteria given below and with Part
2 of the mark scheme. Part 2 of the mark scheme is specific to an examination series and gives
examples of marks for possible utterances made by candidates in each of the role-plays. This
guidance obviously cannot cover all possibilities and should be used in conjunction with the
assessment criteria.

Assessment criteria for each role-play task

Mark | Communication

2 The message is conveyed without ambiguity.

1 The message is partially conveyed or conveyed with some ambiguity.

0 No part of the message is conveyed.

Notes

(a) Students who do not understand a question may show repair strategies* in seeking
clarification. If they are then able to respond to the question successfully, they should be
awarded the same mark as if they had understood it originally.

(b) Where students are required to give two responses or details in one task, failure to convey an
unambiguous message in reply to one of them means that the message is partially conveyed
and one mark is awarded.

(c) The tasks on the candidate’s card and the notes in the Teacher’s Booklet clearly explain how
much detail the student is expected to give per task. However, some students may still go
beyond the minimum requirement of the task. When this happens, as soon as the task is
accomplished, any further incorrect information given by the student is ignored for assessment
purposes, for both Communication and for Knowledge and use of language.

*Repair strategies’ include asking questions for clarification, requests for repetition, requests for
definition or explanation, self-correction, etc in the target language. If the candidate asks for
repetition in English, the teacher can repeat what has been said, but this has to be taken into
account when awarding the mark for Knowledge and use of language.
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You should also note the following information.

Material shown in brackets in the Part 2 mark scheme does not need to be produced by the
candidate. Ifitis produced incorrectly it may or may not affect the mark awarded, depending on its
effect on the message conveyed. If produced it cannot be ignored. All language produced by
the candidate must be marked up to the point that the task is accomplished. As soon as the
task is completed, the two marks are given for Communication. Anything said in relation to the
task after that point is ignored as far as the mark for Knowledge and use of language is concerned.
If the candidate says something which is wrong followed by a correct response to the task, one
mark is awarded for Communication and the incorrect part of the message is taken into account
when deciding on a mark for Knowledge and use of language.

See these examples:

The task is ‘Say what you did last night. Give one detail.’

Candidate A says: ‘I went to the cinema and I'm going to the restaurant’. The task is complete as
soon as the candidate says ‘I went to the cinema.” Two marks are given for Communication and
what follows is ignored.

Candidate B says: ‘I'm going to the cinema and | went to the restaurant.” The first part of this
utterance is in the wrong tense and, although the task is then completed correctly, some ambiguity
arises. For this reason, one mark is awarded for Communication and the incorrect language is
taken into account when giving the mark for Knowledge and use of language.

If the teacher-examiner supplies key vocabulary, whether requested or not by the candidate, no
marks are awarded for that individual role-play task. If the task is a split response, no marks
should be awarded for that part of the response but the rest of the response should be marked
according to the criteria.

If a candidate uses the incorrect form of address as specified for the role-play, there is no
automatic penalty and this should be taken into account when awarding the mark for Knowledge
and use of language.

In any given task, once the student has said enough to warrant a mark of two for Communication,
ignore any extra information for assessment purposes, for Communication and also for KUL.

You should award no marks where a teacher repeats a question after the candidate has given a
complete but incorrect answer. However, if the candidate corrects an initial incorrect response
without any intervention from the teacher-examiner, credit is given for the correct version. If the
candidate starts to give an incorrect response (maybe because they are responding to the wrong
task as they consult their notes), the teacher-examiner can interrupt by repeating exactly the
prompt on the Teacher’s role. If the candidate then gives a correct reply, two marks are awarded
for Communication and the initial incorrect part-answer is ignored when awarding the mark for
Knowledge and use of language.

It is acceptable for teachers to prompt the candidate to elicit a second detail and credit should be
given without any penalty if the task is completed.

The candidate’s answers may not always be produced in the order anticipated, but credit should be
given if the tasks are completed over the role-play as a whole.

For the question task, any appropriate question is accepted, including the use of intonation.

For the question task, if the student does not ask the question after the teacher’s initial prompt, it is
fine for the teacher to prompt with something like it 3HT AS g% Uger grde J2
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For the question task, it is permissible for the student to ask a question by giving a statement using
a verb followed by W3 3 ¢ For example, where the prompt on the candidate’s card is ydre: ﬂ§

YIS YHE TS | 37§ ?

This way of asking a question will not suit all question tasks and the question must make sense for
the award of two marks.

For extra guidance on the question task in the role-play, look at points 6 and 7 of the General
Principles for marking the role-play.

Knowledge and use of language for the role-play overall

Mark | Knowledge and use of language

5 Very good knowledge and use of language.

Good knowledge and use of language.

Reasonable knowledge and use of language.

Limited knowledge and use of language.

Poor knowledge and use of language.

O, [ N W|H

No language produced is worthy of credit.

Additional guidance on application of the assessment criteria for Knowledge and use of
language

The guidance below is provided to describe the key features of a performance scoring each
particular mark at Higher tier and should be applied on the basis of a ‘best fit’ approach.

Minor errors are errors which have no bearing on effective communication, such as incorrect
adjectival agreement or gender.

For a student scoring five marks, the language used is very accurate, although there may still be
the very occasional minor error which has no effect on communication, such as incorrect adjectival
agreement or gender. Verbs are handled with confidence and tense usage is always accurate.

For a student scoring four marks, the language used is generally accurate. However, there may
still be minor errors which have no effect on communication, such as incorrect adjectival
agreement or gender, and/or a more serious error, such as a lapse in verb formation, which affects
communication. Verbs are handled with confidence and tense usage is nearly always accurate.

For a student scoring three marks, there are linguistic errors, some of a minor nature which
have no effect on communication, and others which are more serious, such as lapses in verb
formation or instances where the verb is omitted entirely. Imprecise tense usage may lead to
problems with communication. There may be a task which the student cannot attempt because of
a lack of linguistic knowledge.

For a student scoring two marks, the student shows some ability to use verbs effectively. On
other occasions, the language used in relation to the tasks is ambiguous or incomprehensible.
There may be tasks which the student cannot attempt because of a lack of linguistic knowledge.

For a student scoring one mark, the language used is sufficient to convey a little information, but
is generally ambiguous, inappropriate to the task or incomprehensible. There may be tasks which
the student cannot attempt because of a lack of linguistic knowledge.
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Section 2: Discussion of photo card

This part of the test consists of a photo card which has been prepared by the candidate in the
preparation time. The teacher-examiner will ask five prescribed questions; three of these
questions are printed on the candidate’s card and will have been prepared during the preparation
time. The remaining two questions are printed in the Teacher’s Booklet.

Assessment criteria

The candidate’s responses to the five questions are assessed for Communication only, according
to the criteria below.

Level Mark | Communication

5 13-15 The speaker replies to all questions clearly and develops most answers.
He/she gives and explains an opinion.

4 10-12 The speaker replies to all or nearly all questions clearly and develops some
answers. He/she gives and explains an opinion.

3 7_9 The speaker gives understandable replies to most questions and develops
at least one answer. He/she gives an opinion.

2 4-6 The speaker gives understandable replies to most questions but they may
be short and/or repetitive.

1 1-3 The speaker replies to some questions but the answers are likely to be short
and/or repetitive.

0 0 Communication does not meet the standard required for Level 1 at this tier.

Notes

(a) Atleast one question on each photo card asks students to give and explain an opinion.

(b) Students who do not understand a question may show repair strategies* in seeking
clarification. If they are then able to respond to the question successfully, they should be
awarded the same mark as if they had understood it originally.

*Repair strategies’ include asking questions for clarification, requests for repetition, requests for
definition or explanation, self-correction, etc in the target language. If the candidate asks for
repetition, etc in English, the teacher can repeat what has been said, but this has to be taken into
account when awarding the mark.

The photo card task must be timed. Timing begins as soon as the teacher-examiner begins to ask
the first question ‘What is there in the photo?’. The maximum time for Higher tier is three minutes
and marking will stop at this point. However, if the teacher-examiner has started to ask a question
on three minutes, the candidate is allowed to complete their answer and this is eligible for credit. If
the candidate is speaking at this point, they also are permitted to complete their answer and again
this is eligible for credit.

Only the questions on the candidate card and in the Teacher’s Booklet can be asked. No
supplementary questions are permitted, even if the test falls short of the recommended maximum
time or if candidates fail to develop enough answers to gain access to the higher mark bands in the
assessment criteria.
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Unlike in the role-play, in the photo card task a question may be paraphrased rather than simply
repeated. A paraphrase must keep to the same meaning as the printed question. In all likelihood,
this will be a vocabulary item for which there are two words in the target language and the one that
is printed is the one with which candidates are least familiar. The teacher-examiner may then
change that word for the more familiar one. In Spanish, an example would be Internet instead of
Red; in French, ami(e) for copain/copine; in German Job for Beruf.

If there is no answer from the student when the teacher asks the question as it is printed on the
card, it is fine to paraphrase. For example:

AT myTT fegs AMt fae* fa3@ e 3 2

(No reply)

I fead M feg St age 32

When responding to the first question ‘What is there in the photo?’, candidate responses must be
rooted in the content of the photo. Merely to say ‘I like the photo’ without any justification would not
constitute, on its own, an answer to the first question because it does not relate to the content of

the photo. Remember candidates must only describe what is in the photo, not what isn’t.
Conjecture is appropriate, eg ‘l think the weather is hot because the people are wearing shorts.’

If a question asks for an opinion and a reason and the student answers both parts, using a verb
each time, this would be annotated as a circled Op plus a circled J. For example:

SHT YAt femHt ga ot Aoe J 2----fa™?
WAt femH g3 URe dadt 71 | feg g3 feggru g |

If a question asks if the student likes a particular thing and the reply is "Yes/no' plus a reason, this
would be annotated as Op with a circled J. For example:

dt 3Ht UAHt e g BT URE Ige I 2
It feg e J |

The following information relates to the number of questions answered by the candidate:

All Defined as all five questions
Nearly all | Defined as four questions

Most Defined as three questions or more
Some Defined as two questions

A student who answers only one question can be awarded a mark in the 1-3 band, depending on
the development of the response.

Any development of an answer has to be in the form of a clause, ie it must include a verb. Itis
expected that, for the top band, at least three (‘most’) answers will be developed by using at least
three clauses.

e To score in the 13-15 band, a candidate must develop at least three (‘most’) replies, as well as
answering all five questions clearly and giving and explaining an opinion.

e To score in the 10-12 band, a candidate must develop at least two (‘some’) replies, as well as
answering at least four (‘nearly all’) questions clearly and giving an opinion.

e To score in the 7-9 band, a candidate must develop at least one reply, as well as answering at
least three (‘most’) questions understandably and giving an opinion.

¢ If there is no development on any question, the maximum mark is 6.

10
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Section 3: General conversation (Higher Tier)

Each candidate takes part in a General conversation which is based on the two Themes not
covered in the photo card, according to the sequence table in the Teacher’s Booklet. Candidates
are permitted to nominate the first Theme for discussion in the General conversation but they are
not permitted to nominate topics or sub-topics. The choice of nominated Theme is an individual
one for each candidate and you may come across centres where many candidates have
nominated the same Theme, which is permissible.

Topic 3 in Theme 1, any free-time activities are acceptable for the Speaking test, not just those
listed in the subject content. There is no requirement for a teacher-examiner to cover more than
one topic for each Theme. The choice of topic/sub-topic is at the discretion of the
teacher-examiner conducting the test.

You must assess and award marks for each of the four categories separately — Communication,
Range and accuracy of language, Pronunciation and intonation, Spontaneity and fluency.

At Higher tier, the General conversation must last between five and seven minutes. Timing of the
first (nominated) theme begins as soon as the teacher asks the first question on that theme. As
soon as the teacher asks the first question on the second theme, note the time on the Speaking
Score Sheet. Leave your timer running and make a note of the total time when the teacher says
‘End of test’ or equivalent. Deduct the timing of the first theme from the total time of the
conversation and this will be the time spent on the second theme. Note that time on the Speaking
Score Sheet. This means that any change over time between the two themes is added on to the
timing of the first theme.

The minimum amount of time per Theme at Higher tier is two and a half minutes. If time spent on
a Theme is less than this, then the maximum mark for Communication is the equivalent mark in the
band below. For example, if a mark of 8 (level 4) would be awarded, this is reduced to a mark of 6
(level 3).

Penalties for the mark for Communication for short timing of a theme and for not asking a question
are cumulative, but, where a penalty is applied, the minimum mark for Communication is 1 (a mark
of 0 cannot be given). If coverage of both themes is short, the penalty is still only =2 marks. The
maximum penalty overall, therefore, is —3 (-2 for short coverage of the themes and -1 for not
asking a question). The mark for the other categories is not affected. For example, if the first
theme at Higher tier lasts for 2°20”, the second theme for 2°15” and no question is asked, this is a
penalty of -3 (-2 and -1). If you would have given the student a mark of 3+4+3+2, this will
become a mark of 1+4+3+2. The penalty of -3 should mean a mark of 0 for Communication, but
the minimum mark we can give is 1.

If a candidate only covers one Theme in the General conversation, the maximum mark is 5 out of
10 for Communication; the other criteria are not automatically affected. If a teacher-examiner does
not adhere to the Teacher’s Booklet Themes and speaks about the Photo Card Theme instead of
the two other Themes, this is treated in the same way as a candidate only covering one Theme in
the General conversation and the maximum mark for Communication would be 5 out of 10.

If the General conversation is too long, you should stop marking after the prescribed time (seven
minutes at Higher tier). However, if the teacher-examiner has started to ask a question on seven
minutes, the candidate is allowed to complete the answer and this is eligible for credit.

There are references to ‘narration’ in the assessment criteria for Communication. Narration should
be considered as extension of answers.

11
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If a question asks if the student likes a particular thing and the reply is ‘Yes/no’ plus a reason, this
would be annotated as Op with a circled J. For example:

S AT UAEt yeT g T uRE dae 9 7
-JtA, e e T |

Be aware, when marking the tests of Higher candidates, that if they don't fulfil the criteria for the
1-2 band (which is identical to the 7—8 band at Foundation), then they will receive a mark of O for
Communication. This would automatically mean a mark of O for all other categories.

Level Mark Communication

A speaker who consistently develops responses in extended sequences of
5 9-10 speech. Narrates events coherently when asked to do so. Conveys
information clearly at all times, giving and explaining opinions convincingly.

A speaker who regularly develops responses in extended sequences of
4 7-8 speech. Usually narrates events when asked to do so. Almost always
conveys information clearly, giving and explaining opinions.

A speaker who develops some responses in extended sequences of
3 5-6 speech. Sometimes narrates events when asked to do so. Usually
conveys information clearly, giving and often explaining opinions.

A speaker who usually gives quite short responses but occasionally gives
extended responses. Occasionally narrates events briefly when asked to

2 3-4 do so. Usually gives clear information but lacks clarity from time to time.
Gives opinions, some of which are explained.
A speaker who tends to give quite short responses, but with occasional
attempts at longer responses. He/she has only limited success in

1 1-2 . . :
narrating events. There may be a few occasions when he/she is unable to
answer successfully or where responses are very unclear. Gives opinions.

0 0 Communication does not reach the standard required for Level 1 at this
tier.

Notes

It is a requirement for candidates to ask the teacher-examiner a question in the General
conversation section of the speaking test. Candidates who do not fulfil this requirement will incur a
deduction of 1 mark from their mark for Communication in this section. For example, a candidate
who would have received 8 marks out of 10 for Communication had he/she asked a question, will
actually receive a final mark of 7. There is no impact on the marks awarded for the other
categories for the General conversation. If this penalty is applied, please indicate it on the
Speaking Score Sheet.

The question asked by the candidate must relate broadly to one of the two Themes covered in the
General conversation for that particular candidate. It is not essential to include a verb, if
information can be elicited in another way. The example, therefore, of the candidate asking ‘And
you?’ would be perfectly acceptable provided that it made sense in, and was appropriate to, the
context of what else had just been said by the teacher-examiner or candidate.

A random question unrelated to the two Themes will therefore not be credited and the one-mark
penalty for Communication will apply. A question prompted by the teacher-examiner is treated in
exactly the same way as one which is asked by the candidate without prompting. Asking for a
guestion to be repeated does not meet the requirement to ask a question.

12
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A zero score for Communication means that the mark in the other three categories must also be
zero but, apart from that, the Communication mark does not limit the marks in the other categories.

Level

Mark

Range and accuracy of language

9-10

Excellent language with a wide variety of linguistic structures and a wide
range of vocabulary. References to past and future, as well as present,
events are made confidently. There are few minor errors and other errors
occur when complex structures and/or vocabulary are attempted.

7-8

Very good language with some variety of linguistic structures and a range of
vocabulary. References to past and future, as well as present, events are
generally successful. Any errors are only minor or occur when complex
structures and/or vocabulary are attempted.

5-6

Good language with some attempts at more complex structures which are
usually successful. References to past and future, as well as present,
events are made and are sometimes successful. There may be minor
errors and occasional more serious ones, but they do not generally impede
comprehension.

Generally good language which involves mainly simple linguistic structures
and vocabulary, with some repetition, but with attempts to use more
complex linguistic structures and more varied vocabulary. There is some
success in making reference to past and future, as well as present, events.
Although there may be errors they do not generally impede comprehension.

1-2

Reasonable language which uses simple structures and vocabulary and
may be repetitive at times. Any attempts to make reference to past or future
events may have only limited success. There may be frequent errors, which
may occasionally impede communication.

0

0

The language does not meet the standard required for Level 1 at this tier.

In order to score in the 3—4 band for Range and accuracy of language at Higher tier, a candidate
must have had a recognisable attempt at all three time frames. For the 1-2 band at Higher, there
need only be one time frame successfully attempted.

In this specification, the criteria refer to time frames and not tenses, so if a candidate uses the
perfect and imperfect tense, this counts as one time frame. Similarly, the use of the future and
conditional tense counts as the same time frame.

A reference to a present, past or future event can only be credited if a verb is used in a tense that
relates to that time period. It cannot be, for example, a response of #7 to the teacher’s question

ot AT e YT ATII T ? The verb for an utterance communicating a past or future time frame
may be in the present tense in Panjabi. For example: " 88 € A/ 3*3fa faar gt (past time
frame); of& W AfII A faar gt (future time frame).

13
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Level | Mark | Pronunciation and intonation

5 5 Consistently good pronunciation and intonation throughout.

4 4 Good pronunciation and intonation with only occasional lapses.

3 3 Generally good but with some inconsistency in more challenging language.

2 2 Generally good but some inconsistency at times.

1 1 Pronunciation generally understandable with some intonation.

0 0 Pronunciation and intonation do not reach the standard required for Level 1 at
this tier.

Level | Mark | Spontaneity and fluency

Excellent exchange in which the speaker reacts naturally to the questions asked

5 5 and has an air of spontaneity. Responds promptly and speaks with some
fluency, though not necessarily with that of a native speaker.
Very good exchange in which the speaker usually reacts naturally to the

4 4 questions asked and is often spontaneous. Usually responds promptly and
there is some flow of language.
Good exchange in which the speaker sometimes reacts naturally to the

3 3 guestions asked, but may at times rely on pre-learnt responses. There may be
some hesitation before a reply but the delivery generally has a reasonable pace.
Generally good exchange in which the speaker shows some spontaneity, but

2 2 also relies on pre-learnt responses. Sometimes hesitates and may not be able
to respond to some questions.
Reasonable exchange in which the speaker shows a little spontaneity, but much

1 1 of what is said involves pre-learnt responses. The flow is often broken by
hesitation and delivery can be quite slow at times.

0 0 Spontaneity and fluency do not reach the standard required for Level 1 at this
tier.

Notes

Students who do not understand a question may show repair strategies in seeking clarification. If
they are then able to respond to the question successfully, this will not have a negative impact on
the overall mark, unless it happens regularly and affects fluency. If, in any part of the test, the

teacher either asks a question or gives a prompt in English, you must ignore the student’s reply.

14
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Appendix 1 — Subject content (Themes)
Theme 1: Identity and culture
Topic 1: Me, my family and friends

e relationships with family and friends
e marriage/partnerships.

Topic 2: Technology in everyday life

e social media
¢ mobile technology.

Topic 3: Free-time activities

music

cinema and TV
food and eating out
sport.

Topic 4: Customs and festivals in target language-speaking countries/communities

Theme 2: Local, national, international and global areas of interest

Topic 1: Home, town, neighbourhood and region
Topic 2: Social issues

¢ charity/voluntary work
¢ healthy/unhealthy living.

Topic 3: Global issues

¢ the environment
e poverty/homelessness.

Topic 4: Travel and tourism

Theme 3: Current and future study and employment
Topic 1: My studies

Topic 2: Life at school/college

Topic 3: Education post-16

Topic 4: Jobs, career choices and ambitions
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Appendix 2 — SPEAKING SCORE SHEET — GCSE Panjabi

Examiner name:

Centre Candidate name
Number and number
Role-play Ne: Photo card Letter: PC Theme Ne:
Task | Annotation | Mark | Comm Task | Communication | Time:
1 + 1
2 KUL 2
3 3
4 Total: 4 Total:
5 5

General Conversation

Nominated Theme Ne:

Second Theme Ne:

Verb usage (up to 4 of each v)

Present

Past

Future

Subjunctive

Other notes:

Time Time
Comm /10 Range & Acc /10 Pron & Int /5 Spon & Flu /5 Total Total
mark
for test
Per S No Question -1 | Short GC Theme -2
inc mark for

Co
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Appendix 3 — GCSE Panjabi Symbols for annotating Speaking Score Sheet

Role-play and General Conversation
NB For the Role-play, don’t use these symbols: + S *

General

v A clear piece of information in the form of a phrase or sentence with a verb

An understandable piece of information with some lack of clarity. There may be poor
v pronunciation or incorrect use of a verb, for example, but something can be
understood from the response as a whole.

- A clear piece of information with no verb

+ An enhancement, eg a more complex structure or unusual vocabulary item

A statement which lacks fluency but which is clearly a spontaneous response rather
than mere hesitation through lack of linguistic capability

A minor inaccuracy, eg incorrect gender/adjectival agreement, which does not affect
communication

which affects immediate understanding

Repetition of information already given by the student

No answer given

A wrong answer to the question

A
@ A more serious inaccuracy, usually a problem with a verb (wrong tense/person),
R
X
W
[

St A/ alone

A guestion asked by the student without a verb

¢
@ A question asked by the student with a verb

Opinions and Justifications

Op | An opinion without a verb

An opinion with a verb

Justification of an opinion without a verb

Justification of an opinion with a verb

y

A minor mispronunciation, which doesn’t hinder communication

A more serious mispronunciation which would make comprehension difficult

A hesitation

A longer hesitation

o)
-o§>'U'U%9L-g

<

D

-

What is said is incomprehensible
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Appendix 4 — Marking of photo card — Guidance Notes

Symbols to be used:

General
v A clear piece of information in the form of a phrase or sentence with a verb. This
may be a conjugated verb or an appropriately used infinitive or gerund.
- A clear piece of information with no verb
R Repetition of information already given by the student
X No answer given
w A wrong answer to the question
o

=3 Ft/g alone

\w

An understandable piece of information with some lack of clarity.
There may be poor pronunciation or incorrect use of a verb, for example, but
something can be understood from the response as a whole.

What is said is unclear or incomprehensible so the response is not credited.

? The message may be wrong, for example if the wrong person of the verb is used.
Opinions and Justifications
Op An opinion without a verb
ﬁ?ir:)ig\i/nion with a verb. This may be a conjugated verb or an appropriately used
e or gerund.
J Justification of an opinion without a verb

@

Justification of an opinion with a verb. This may be a conjugated verb or an
appropriately used infinitive or gerund.

Unclear/incomprehensible language includes errors that affect communication, such as the
wrong person or tense of a verb and very poor pronunciation which has a bearing on
understanding.
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Automatic access to the band if the minimum requirements are achieved:

Band | Requirements
13-15 | e all 5 questions answered clearly

e minimum 3 of v' in 3 answers
e minimum 1(Op) or Op
e minimum 1@orJ

¢ Note: or@ can count instead of a v' (see Example 1, below)

10-12 | ¢« minimum 4 questions answered clearly

e minimum 2 v's in 2 answers

e minimum 1 or Op

e minimum 1@ orJ

¢ Note: or @can count instead of a v/

7-9 | « minimum 3 questions answered which are understandable

e minimum 2 v's in 1 answer
e minimum 1@ or Op

e Note: or @can count instead of a v/

4-6 | ¢« minimum 3 questions answered which are understandable
1-3 | e only 1 or 2 questions answered which are understandable

If a response fulfils the minimum requirements for the band, a mark in that band must be
awarded. If, outside of the information conveyed clearly, there is other language which is
unclear, this will mean that the top mark in the band is unlikely to be awarded.
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Example 1
Task | Communication
1 Vv v .- -
LD, OX
3 VvV
4 v
5 v
Photo card mark: 15

The minimum requirements are fulfilled for the 13—-15 band.

All guestions are answered clearly (there are no ? or 17/ symbols).

Three answers have three v's (with + counting instead of v's on one occasion).
There is one opinion.

There is one justification.

Because everything is clear, 15 marks are given.

Example 2

Task | Communication

Vv v vy

PIOEN>
V-v-v v ? l7/

DIOID.O

vvv?

G h|W[IN|PF

Photo card mark: 13

The minimum requirements are fulfilled for the 13—-15 band.

All questions are answered clearly, but there are occasions where some other
information is unclear or incomprehensible.

More than three answers have three v's (With@ @ counting instead of v's).
There is more than one opinion.

There is more than one justification.

A mark in the 13-15 band has to be given, because the minimum requirements have been
fulfilled. However, because of the lack of clarity on a number of occasions, the bottom
mark in the band is awarded.
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Example 3

Task Communication

=
/«CDC)
v v
@

Vv v

g | hjwWiIN|PF

Photo card mark: 12

The minimum requirements are fulfilled for the 10-12 band.

o At least four questions are answered. All of them contain clear information, although
there are also two occasions where there is a lack of clarity.

e The requirements for development of answers are exceeded as there are three v's in
two answers (withcounting instead of a v' in the second answer).

e There is more than one opinion.

e There is one justification.

Although five questions contain clear information, a mark in the 13-15 band cannot be
given as there are not three ticks in three answers. However, we can award a mark of 12
because the criteria for the 10-12 band are exceeded. For this band, four answers need
to contain clear information, when in fact all five do. Two of the answers need to contain at
least two clear clauses (shown by v's or @ or when all five do. There are two
occasions where there is some lack of clarity, but this is not enough to prevent a mark of
12.

Example 4
Task | Communication
1 vvVv-.
2 X
3 Q-
4 v 2
5 VoV Y
Photo card mark: 11

The minimum requirements are fulfilled for the 10-12 band.

e Four questions are answered. All of them contain clear information, although there are
also two occasions when what is said is incomprehensible.

e The requirements for development of answers are exceeded, with three of them being
developed well with three v's (with +@counting instead of v's).
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e There is one opinion.
e There is one justification.

As only four questions are answered clearly, the 13-15 band is out of reach. There are

two occasions where the attempts at conveying information are unclear and so a mark in
the middle of the 10-12 band is given.

Example 5

Task | Communication

Vv v v
Vv v v vy-

(Op v v v v

‘/‘/

Photo card mark: 9

|| WIN|F

There is good development of four of the answers and opinions are given. However, there
is no justification of an opinion and so the minimum requirements for the 13—-15 and 10-12
bands are not met. The criteria for the 7—9 band are exceeded and so a mark at the top of
the band is received.

Example 6
Task Communication
1 v v
2 W
3 v ?
4 v
D)

Photo card mark: 9

The minimum requirements are fulfilled for the 7-9 band.

e Four questions are answered (the minimum requirement is three). All of them contain
clear information, although there is also part of a response which cannot be understood
on one occasion.

e One answer is developed with two v's.

e There is one opinion.

There is one occasion where the information put forward cannot be understood, but four,
rather than the minimum three, questions contain clear information. On balance, the mark
of 9 at the top of the band is merited.
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Example 7

Task | Communication

LN
ASESdAy

v v

Clo)

Photo card mark: 9

|l wW|N|F

The minimum requirements are fulfilled for the 7-9 band.

e There are understandable answers to three questions.
e At least one answer is developed with two v's.
e There is at least one opinion.

There are two v's (or valid substitutes) in three responses whilst the responses to the other
two questions contain some information but this is exclusively unclear, denoted by the use
of the :7/ symbol. Therefore, only the responses to three questions contain clear
information.

The criteria for the 7-9 band are exceeded and so a mark at the top of the band is
awarded.

Example 8
Task | Communication
1 v v -
2 ??
3 J
4 w
5 -

Photo card mark: 7

The minimum requirements are fulfilled for the 7-9 band.

e Three questions have understandable answers.
e One answer is developed with two v's.
e There is one opinion.

There is one answer which is incomprehensible and one where an incorrect answer is
given. Of the three valid responses, the last question is answered very briefly without a
verb so a mark at the bottom of the 7-9 band is appropriate.
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Example 9
Task | Communication
1 v
2 X
3 v
4 v
5 W

Photo card mark: 5

The minimum requirements are fulfilled for the 4—6 band.

e Three questions are answered clearly, although none has any development. The wrong
answer is given to the last question and the second question is not answered.

Although there is no lack of clarity in the three answers that are given correctly, the replies
are short and so the mid-mark in the band is awarded.

Example 10
Task | Communication
1 -
2 v
3 X
4 X
5 X

Photo card mark: 2

The minimum requirements are fulfilled for the 1-3 band.

e Two questions (the minimum is one for this band) are answered clearly, although they
are short answers, with only one of them including a verb.
e Three of the questions have no response.

Most (ie three) questions must be answered understandably in order to access the 4—6
band and this is not the case here. As the answers given are extremely short, the
mid-mark in the 1-3 band is awarded.
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Example 11

Task | Communication

gihlw|N|F
X [N X |~
-~

Photo card mark: 1

Attempts are made to answer three questions, but only the first one has a reply that is
understandable, and that question is answered giving a minimal amount of information.
However, something is conveyed and one mark is awarded.
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Appendix 5 — Role-plays — General Principles

Here are some commonly-made errors and omissions. In order to ensure a standard
approach, see the third column for the marks to award.

The type and frequency of error will also impact on the global mark you award for
Knowledge and use of language [KUL].

OAR = Otherwise appropriate response

Type of error or omission Mark (0/1/2)

1 Only one detail is given when two are required. 1 mark
[Message is partially conveyed]

> Opinion is given but without a reason when this is required. 1 mark
[Message is partially conveyed]
Present tense is used with a past time marker. Eg

3 | i3S N oA uzer 1 mark
[Message is conveyed with some ambiguity]
Wrong tense is useq with no correct timer marker. Eg

, | STEdmiveRefaaaied? > Wadsfomrt | 1 mark
[Message is conveyed with some ambiguity]
Nouauxiliary verb is used in a compound tense. Eg

5 | S EsY 1 mark
[Message is conveyed with some ambiguity]

6 | Anincorrect form of address is used in the ? task in OAR. 2 marks
In the ? task, the prompt word(s) is (are) simply lifted and used,

7 o S . 0 marks
even if with a questioning intonation.
The pronoun used in a task is lifted and used in the candidate’s

g | response. For example: . 0 marks
e ITFHIS (BATB) > ITIHIS I |
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Appendix 6 — Photo cards — Guidance on paraphrasing

When considering any paraphrasing of Photo card questions, the exact original meaning of the question must be maintained. This can be achieved
through the substitution of an individual word with a synonym or, in some cases, the use of a different language structure. However, no additional
elements, which aim to clarify the question further, are permitted.

Here are some examples of typical question structures and what changes are permissible. In addition to these, further guidance may be given
relating to specific questions in a particular examination series.

Original wording Allow Reject Analysis

G Task 5 : 1 et S5 Oz Substitution of synonym.

H - v 3 n t2 S AR frmh Substitution of synonym.
Task 2: SA<Ts off i GRS §3ﬂ 37 Different expression for similar
J5? things.

Task3: ot 9am ZaT A 2 ot ure nfemT HT 2

I Task SQﬁ =t O3 =oh ga o e Original meaning not retained.

J g a R g . Additional assistance given.
Task 3: . 3 AT /T 3nAg ST TB AN’ 3 MA Substitution of synonymous
Task 5 : gfont 3*Hagd! g5 -Hagdt phrase.

K Task 2 - fyf g ?ﬁgsst(iatetion of synonymous
Task 5 : ST QT Bt J3 dar gegT Bt

L _ . v o . Substitution of synonymous
Task 4 : Ar&t-g} g93 Y AH e expression.
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GCSE Panjabi Speaking Higher — Part Two Mark Scheme

Section 1: Role-plays — specific June 2022 mark schemes

Higher Role-play 7

Task

2 marks
Message conveyed without ambiguity

1 mark

Message partially conveyed OR
conveyed with some ambiguity

0 marks

No part of the message is
conveyed

1 | fer A frast femmag
dt utadt 3 3HT ITE A
SHag edis en |

Any two appropriate details with a verb. Eg

HI HH & W3 © femmg St uradt /it | uract fea
33 I fe9 IEt At/ 993 ATd B Uddt 3 e
A I It was my cousin’s wedding/Party was in

a big hall. Many people came to the party.
Past Tense.

Any two appropriate details but verb
is omitted or only one detail provided
Eg

HR 2 H3 o fewrg, @3 o8 feg
Utgt, §I3 A BI UG 3 |

Cousin’s wedding/Party in big hall.
Many people at the party.

Message not communicated.
Eg

utg<t femma & Wedding party

2 | A S d fomrat Emi
Utget 3 yTd g19
ERIECICEIS OGRS
ISTER |

Any two appropriate opinions with a verb. Eg
YT g3 391 I J | ARd 3RS T uds,
9Td 3 BHI S fER IS | There are many

types of food and Praunthay, pickle and lassi
is served for the breakfast. Present Tense.

Any two appropriate details but verb
is omitted. Eg

g3 3JTETUE, BMTE | Many types
of food, delicious.

Message not communicated.
Eg

YT YTy A
Ate food.
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IS B Yrgemt 3 Any one appropriate detail with a verb. Eg An appropriate detail but verb is Message not communicated.
METHTST o Mg s fyg | HodHa &8t 3t ¥ gt FaR e are & q omitted or only reason given. Eg Eg
SqtagRgsoa et | S99 96/ Sfoni @ HEde @ YHuadR I8 U St A, gfent B 83T | Good H&IAS entertainment
3 | e fa g8 a1 aFs 7 It 7redid g®e R DJ, games for children.
J& | Panjabi Bhangra groups are called for
entertainment. For children’s entertainment
people call a magician, bouncing castle etc,
Present Tense.
337 fenig St utgdt 3 | Any one appropriate detail with opinion and a | Any one appropriate detail but verb | Message not communicated.
e 5 St <t verb. Eg 3 e Hg Wl M3 WA B3&THE | is omitted or vague response Eg Eg
a0 JaT &It SaTeT | AT T /B! o ST felt good.

| don’t like people fighting after having a
drink. Present Tense.

Drinking alcohol/fighting.

Allow the candidate to
ask you a question
about love marriages.

Any clearly understandable question about
love marriages. Verb must be included.

Any clearly understandable question
about love marriages but verb is
omitted or the question is vague.

Message not communicated.
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Higher Role-play 8

Task

2 marks
Message conveyed without ambiguity

1 mark

Message partially conveyed OR
conveyed with some ambiguity

0 marks

No part of the message is
conveyed

1 | Q@+, i nfen & 0
3J731 S AR I AAET
AIET T2

Any two appropriate details with a pronoun, verb
and appropriate time. Eg

W& 2n &t B9 298 93 13THT | | booked a table

for eight o’clock today. Past Tense.

Any two appropriate details but verb is
omitted or only one detail provided Eg

W& TH, 298 84 | Eight o’clock, booked
table.

Message not communicated. Eg

J9% | Table.

2 | 3T SIAINI TS
& Sfemii a3 g9
J3THT?

Any one appropriate detail with reason with a verb.
Eg

NI & He&HT3 W/ d9 9 i3 feg & St st it

My name is Manjit Singh and it is for six people.
Past Tense.

Any one appropriate detail with a reason
but verb is omitted or only detail or

reason provided Eg W H&H13 fHw /39
& ©¢ | Manijit Singh , six people.

Message not communicated. Eg

293 g¢ | Table,people.

Allow the candidate to
ask you a question
regarding whether the
table is still available.

Any appropriate question with a verb. Eg

303 dB AR /v S aet s feasTJ 9

Do you have a table now/Do you still have a table ?
Present Tense.

Any appropriate question, in which verb
is omitted Eg I <9 ?

Message not communicated. Eg

295 Table.

4 | A3 a3t I, 3AT

Any appropriate detail with a verb. Eg

it far3egt § Hee IR 82 J 9t/ Ast ag yay
J IrEt HT | We got late as we went to see our
relatives/our car broke down. Past Tense.

Any appropriate detail but verb is
omitted or part verb used only Eg

B2 J I fgH3ed d% / I YIH | Got

late as stayed with relatives/car broke
down.

Message not communicated. Eg
fag3eT9/ 319 Relatives/car.

Any clearly understandable question about what
vegetatrian food they will eat. Verb must be

included. Eg Ht T3 Jigt &t AEHT, 33T €& »3
IS YT | We will eat potatoes and cauliflower
dish, tarka daal and chapaties. Future Tense.

Any appropriate detail of food but verb
is omitted or a question is vague Eg

WS J1dl 3 €8 potatoes and cauliflower
dish, tarka daal.

Message not communicated. Eg
YT HJJTd! Vegetarian food.
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Higher Role-play 9

Task 2 marks 1 mark 0 marks
Message conveyed without ambiguity Message partially conveyed OR No part of the message is
conveyed with some ambiguity conveyed
vamiifeg ARG UTEl &t | Any appropriate two details with a verb. Eg s | Any two details but verb is omitted or Message not communicated. Eg
ure ¥ BT A Iz I | Aoz e ITRY 1 Gt & fnrdrt Sqradhyr | ONY one detal pm;jged Eg &ait 3 wiAd Je people have effect
WMATIIJI TS ?2€ IS | Td | people’s health is getting weaker/deteriorating. _ _”' ’ Je [ Weak health, on them.
oH | They are catching diseases. Present Tense. getting il
ﬁ@@mg@%@é Any appropriate detail and reason with a verb. Eg Any appropriate detail with a reason but | Message not communicated. Eg
fefonraet 3 ardty | €513 fEa fos eaet a1 ur o Sfact =<t Un feald o3 Verb_:js S”é'tted or only detail or reason | JfgH st did charity.
. . v rovide
MBI AU | AS | iefenaeint & a1at O d UR feeld o3 Hi | They %ﬁrﬁwgﬁﬁﬁ@
SesdddizTH o collected money for the charity by not wearing _
* ot uniform on one of the days. Students collected Collected money for charity.
J1es | money by washing teachers’ cars. Past Tense.
ATE UTat St wie An appropriate detail with a verb. Eg An appropriate detail but verb is omitted | Message not communicated. Eg
gatmifimrete | W feua 3 feg go3 ot aig I fa@ fauret sigg | OF response is vague Eg IJA9 U3 Thousand pounds
J% 995 B9 gt fearrs &t 83 3/ fox 2dhr GuarsT I daft 9 I/ Tt s I ofet et |
ood idea/good reason to have a
I g9 3T oA | like the idea because water is every human’s gharity. g
fegg a9 need. This is a good reason. Present Tense.
ATe Uttt & AMZETd! An appropriate opinion with a verb. Eg An appropriate detail but verb is omitted | Message not communicated. Eg
S TIT IS BE AT | Mt W S et e BEt Mg ETudt g3idy urat | OF response is vague Eg Ut 3BT Pour down water
A a2 fHae &3 I It =a37d11 We will use the rain water A BITB |

to water the garden/we will use clean water
sensibly. Future tense.

water when needed.
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Allow the candidate to
ask you a question
about what you can
do.

Any clearly understandable question about how you
can help eradicate this problem. Verb must be
included.

Any clearly understandable question
about how you can help but verb is
omitted or question is vague.

Message not communicated. Eg
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Higher Role-play 10

Task 2 marks 1 mark 0 marks
Message conveyed without ambiguity Message partially conveyed OR No part of the message is
conveyed with some ambiguity conveyed
3AT i 3Aa ff& fes | An appropriate detail with a verb. Eg An appropriate detail but verb is omitted | Message not communicated. Eg
spv~ e . . . o or response is vague E o
gfger J m3 it ot 7 few i fos gafar/gatatt w3 A ofofe mfog s | P ) gue g _ U/ 2UET fivelsee.
SHTTIIE I 9 ARt grT g1 Sy ISR T | 1 will stay v fes, Tfareg Ao w3 wfgt o
here five days, | want to see Golden temple and TN | five days, | want to see
jalhian wala bagh. Present tense. Golden temple and jalhian wala bagh.
Wﬁﬁﬂﬁw@zé Any two appropriate details with a verb. Eg Any two appropriate details but verb is Message not communicated. Eg
= . v v v omitted or only one detail provided E
ASdEd €JG ER | | geg et st Y/ Aeg e gu3 fog Sar /ar3 & y P 9 | Heamm3a Joumey.
2fea gg3 At | The journey was not good/it took a SHA -33_ Sfea _E I3 93 | Baditoo
long time/there was too much traffic on the way. much traffic/long time.
Past Tense.
fen wfog feg 3At An appropriate detail with a verb. Eg An appropriate detail but verb is omitted | Message not communicated. Eg
: : . v . . or response is vague E 0 .
faa dtai €t ¥ e/ 392 ydtetaftasdtetam | will buy P e =g Jaftrft Good.
ydteeTdt 441 ? suits/presents. Future tense. He/3T<, suits/presents.
3973 \fgg faast An appropriate detail with reason with a verb. Eg An appropriate detail with reason but Message not communicated. Eg
o verb is omitted or detail or reason
faatym et 2 A3 Afg §93 AS J | 58 T geus JH g3 HIEga provided Eg A3 HAFIT | our city
IS EH | J /88 i 9g3T 99 &Jt JeT | Our city is very

clean. There is a very famous football team in my
city./ The weather here is not that good. Present
Tense.

Hfad ATe, g2gTs S M Jar &t |

Clean city/vehicles run nicely/weather
no good.
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Allow the candidate to
ask you a question
about your favourite
place.

Any clearly understandable question about your
favourite place.. Verb must be included.

Any clearly understandable question
about your favourite place but verb is
omitted or the question is vague Eg

Message not communicated.
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Higher Role-play 11

Task 2 marks 1 mark 0 marks

Message conveyed without ambiguity Message partially conveyed OR No part of the message is

conveyed with some ambiguity conveyed

WH&H@EE‘U’ Two appropriate details with a verb. Eg Two appropriate details but verb is Message not communicated. Eg
fefemragni § fefammaeint & uig vl g3 fHser I w3t #t omitted or response isvague B9 | yagimifiet Problems.
P ST T WA € et ugEt d9d gaaTel a9 @ AW Bt e/ <fenraetnt § wa et o ag3, w Hw e
Idmigsoedisten | | YIS I3 I I I | Students get too much SR foo much .homework and

homework and they do not have time to revise for ?_on thave tlme. to revise for GCSEs.

GCSEs. They have too many worries. Present 00 Many WOrres.

Tense.
WH@B]“E—U’HHTFEB Two appropriate details with a verb. Eg Two appropriate details but verb is Message not communicated. Eg
Sxdlegy ys eaig | WA AgS R Hafig 36 st egg AR ug & 8ew | omitted or response is vague Eg ISTHSI | Talks/ messages
=1 © fefenaet ugh gt iafes 35 293 HaR T6 | WHt 3t 293 AaE, € 8<% ¢ fefenast

We cannot use the mobile phone at school but <33 AJE I& | We cannot use, but

A level students can use it for their study. Present | A |evel student scan. Cyber bullying

Tense. happens sometimes , cyber bullying

people kicked out of school.

WFU@H@B]%HSHB"[ Any one appropriate opinion with a verb. Eg Any one appropriate detail but verb is Message not communicated. Eg
far Ayt e HE A3t 713 8 o™ e Yicae sfont /it fag fa Qm'tt?d or response Is vague Eg Iyt 3t Any achievement
S ferordtaas | N Ihg 3 e fefonmadt feforgge . | ASS W 3 e ieae, w fa@fa g happened
Ht 2 | became class prefect in year 7 and | was very EEEEEE

happy because | was a clever and responsible Became prefect in year 7, clever and

student. Past Tense. responsible student
T 39 6; Hg’&?fﬁ-@ Any one appropriate detail with a verb. Eg Any one appropriate detail but verp is Message not communicated. Eg
Wa T 595 &g Wy W3t 3° Ugfar / Ugtaft | ffead e 32y omitted Eg M3t 3UsT/f8ead @3 | gigarz a@aT| Conversation.
HAIS M It gadr? | BLAM/Z=TdM | | will ask my mother/look at the Y BT ask my mother/ look at the

internet. Future Tense.

internet.
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Allow the candidate to
ask you a question
about students’ stress
in school.

Any clearly understandable question about how the
students’ stress at school. Verb must be included.

Any clearly understandable question
about students' stress but verb is
omitted.

Message not communicated.
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Higher Role-play 12

Task

2 marks
Message conveyed without ambiguity

1 mark

Message partially conveyed OR
conveyed with some ambiguity

0 marks

No part of the message is
conveyed

1 | SHTfar3gierdH
II&TAS 3 e A
JIe Im3 fa*?

An appropriate detail with reason and a verb. Eg
831 &t ydleedt Wd Wa Udu 8T eTaH JI&Td
fa@fa feg i Hd AT &aTeT J | want to do an easy

job/l am going to get a job delivering goods to
people’s houses. Present Tense.

An appropriate detail with reason but
verb is omitted or only one detail
provided Eg 3dt &t ug

U9, HuTaH, | delivering goods to
people’s houses, an easy job.

Message not communicated. Eg

IH IS | Do a job.

2 | AT 3t ATAH I B
II&TIge I M3 a8

An appropriate detail with reason and a verb. Eg

0 3t st 7%et HaT STt SRR g fap /4t
A € e fof3ost 3 eme feg dHAg I e J |
fafa 831 Hg 99s % YR g= A4l | As soon |

get my driving licence/get my GCSE exams over |
want to start working/ because starting early will
make more money. Present Tense

An appropriate detail with reason but
verb is omitted or only detail or reason
provided Eg

i H R S gga / SaElfdar IR
geo 3 fmer UR TTET After doing my

GCSEs/after getting my driving licence,
to make more money.

Message not communicated. Eg

SITEHEdT Driving.

3 | fer dH feg It HAIST
WTHIEMT IS 28 J1BT
or |

Any two appropriate details with a verb. Eg

YA yatg 32 31 g H HHI® I AdeT J AT 3731
EYIH IAIE J/ TI IS SBHIAIR IT | If

weather is bad this work can be difficult. Your van
can break down, you can get tired by lifting too
much weight. Present tense.

Any two appropriate details but verb is
omitted or response is vague Eg

& Ydg J Aedft/ 9de US 28 U'dAS 2@

i van break down/delivery of parcels
will be difficult in snow.

Message not communicated. Eg

UTIHS &< | delivering parcels
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33 fegd o Any one appropriate opinion with a verb. Eg Any one appropriate opinion but verb is | Message not communicated. Eg
vixmTets yftoord v . o . tted Eg ™™ St ufe, wgwa It | . o . .

| gqrat fdg M Sadt we Areafmt | ug g U omitted Eg JIIMT I &It There are no jobs.
Tt 9 EIdii 3 | gt 3 ydtoodt 5 wg wg St udg s dhe UJgTeE EMt SIdMT 20 ordinary jobs
WA J2qT o & gt = ot | T will be reduced, delivery jobs will be

There will be less jobs in shops. On the other hand
delivering shopping to homes/delivery jobs will be
increased. Future tense.

increased to deliver shopping at home.

Allow the candidate to
ask you a question
about the wages in
different jobs.

Any clearly understandable question about wages.
Verb must be included.

Any clearly understandable question
about wages in different jobs but verb is
omitted.

Message not communicated. Eg
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